EARAROBREBRT —5 XN—ZXBISH—F 20224E108298 (+) 40ERiE5H

EQ=reEEn 1BISX YSRIBL (RE) <& [wl | mwm - | 3 2000 B
[AXE%] 1 & :10,700,000 @ 2 #&:4,300,000 M ~ 33#&:2,700,000 9  43#&:1,600,000 5 3% :1,070,000 M
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
=gvyOoy— i 3 g*gi%m 2:27.0 4-4-4-4 | 35.5] 955 | 1 434 %23@ (FH)
= . (=)
RANTI—IN BRI—IVIII ) SN 5r—1
—3 s 4 | ALTR 2:27.2 10-9-10-8 | 35.4 | 93.5 | 3 | 456 |HEHIIF EH)
,:I:\__‘J./'j_gﬁt“ 550 (1 1/4) (_2) @5%:5
R:FRAF B:OF7ITh T wis
— t 3 | FR—H 2:27.2 12-11-11-10/ 35.2 | 93.5 | 7 a4y | EKFEE ()
,IJ\._EL___:[“B ] ST = 1 : 4.0 (o) © @ J2EY2-—T7 -4
RiW—=5—=ywF B:TUFATFUVER AREY21—T7—LA
=~ )\ — 4 5 | IKEME 2:27.2 10-11-11-12 35.2 | 93.5 | 5 44y | RE=MER (R
,5\’_1‘_/7! Pty [B]“ . 570 oe) o | ® F-I7-x
RiF4—=TAVNT~ B:UvRY /8T r—Ih
My~ = s 4 | ESHEBE 2:27.4 7-7-9-8 |35.7|91.5 | 9 | 472 |MBmES (FR)
5/5/9 7U/? It'j747 55.0 BV o | Ger1L-yyr
RN—EVIv— B:F7ZIbo—)b EBRT7—L
617]12 @9 124 T7—t— 44 Eiﬁ%#ﬁ 2(;7@5 9-9-7-5 [35.9]90.5| 6 | 480 EE% %%‘ﬁ)
REFVTHANAN R REPEIL R/ O l4a57—n
<= s H o4 | KEEE 2:27.6 7-7-4-5 | 36.2| 89.6 | 13 | 506 |MHE—H ()
77| ©TFTAER , - 57.0 (1/72) 6 | @) mERF—IL
R:Va—hnrFF—/ B:EYRoNT« #xatt 5,4
W\ 4 | EEEH 2:27.6 3-3-2-2 | 36.4] 89.6 | 4 | 466 |EBEAE KH)
8|8|15| ¥ IRILEVYT B " 57.0 o) ) gﬁfﬁaj‘u\y RIST 5747
R:T=ILRYY T B:RARAT 14— EvIUy RIT7—LA
9/5|g|TaALVYT 33 Z%IE 2(72{:)7 12-13-15-15| 34.9 | 88.4 | 11 | 448 Eg;ﬁﬁ)\ (=8
RiIvRIVIA B:FAT7AVIVT (-6) 952?#511’%—
SN _R H 3 | #UEA 2:27.7 12-13-13-13| 35.4 | 88.4 | 12 | 464 |FHEX &)
Il %0 0\ o | W GIL=vyr
RiIVvRIVIA BE—MJYIRFYR () #HB8I1-RL—YavBEET7
ZILNA RSO i3 S%E%*é‘: 2:(28).2 4-4-4-5 |36.8| 84.0 | 14 | 462 jw%ﬁ 7(%?)
. 3 _ e
A:Camelot £:Woodland Chant 12 Fortmill Farm
F—#—vS=zJlL [B] 3 3 E’ﬁﬂﬁ 2(:28.)2 4-4-7-10 |36.6| 83.9 | 2 | 4% Zﬁ\gﬁg (ER)
. 7€, s n
RVIN—RF—k B:PRIAVFr—L (S =t
Y — 4 4 | EIZARR 2:28.3 15-13-13-13| 36.0 | 82.5 | 8 460 | BERIA )
/\/37»_(/\ I\[B! - 5.0 (72 (o) | (B) HEL—RA=Z ]
RN=YITSA B:IVITSATN—R (\) #HB8I1-RL—yavBEET7
—~3) 4 3 | WPHRE 2:28.3 2-2-2-2 |37.1] 83.2 | 10 | 508 |EMEE— (RR)
) o Sl 793 o | B =T 2k—t
RE-—UR BIRVTSS5A Eillke]
=~ s 4 | SEF 2:28.9 1-1-1-1 [37.9| 78.3 | 15 514 | BE RR)
/7\.7' J\‘D?X’f)b 57.0 (31/2) *2) %EH:H‘EE
RIN=YVISA §:T7—ANFAF— EEHERS
[ BN
En'y 48.3-36.0
NOVIA L | 12.4-11.4-11.4-12.3-13.0-13.2-12.5-12.5-12.3-12.2-11.3-12.5
@ 11— —BBIEIL
13—7F— 14,3,15(6,10,13) (7,9)-12-(1,2)-(4,11,8) 5
20— — 14-3,15(6,10,13) (7,9) (1,12) (4,2) (5,11,8)
Ia=5r= 14(3,15) (6,7,10) (13,12)9,1(4,2) (5,11)-8
40—F— (x14,3,15)10(6,7,12) (9,1) (4,13)2(5,11)8
o ILRE
BB 10 3004 JA R 1-10 340/ & 1-6 750 3EE 1-4-10 5,230
B B 10 140 4-10 1,290 5 & 1-10 830M4 3Es 10-1-4 15,070M3
1 160M 1-4 1,290 oS- 10-1 1,370
4 420

ABIC OV TRUTEREERRODDZE. THRIIZEL.




